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1. HEQ iR

pIIE2EHE A2AIEL 2 EEX 2t HE
HE A ENAEES Z228EXEs HEICS
0HOICHA HE0 70 ASZH &I SR NEXAE 15 (A (2E) AP548
OLOICHA HE0| SR DERAIEHZAL, A9290
OI0ICHA SSIAE 2 DERAE(MR), 4EZ 53840
OLOICHA HE0l 70 ASZH &I 2 NEXAIE 15(=41C, AQ127
OLOICHA HE0l 70 ASZH &I A NEXAIE 15(=4!)Ce AQ128
HEo =2 =AY =)E, EF]Y, 2AE HEEFY 2014.03.17
=JIe o2 g o
2272t 2020.12.17 ~ 2021.03.16 Z=E&)|2t =491210] g2
PNTSE=E=2-1PN; DFOICHA Ol AN RHAL 2 2 S THALZ 2ES] AL St et
DB2SEX, KBEH, NHs823, NHEXISH,
P28, DIZHHAHS, PA28, ALMH TS
EHOH S A ewxaﬂ,aarsw zled, J2sA UBALS 2H2| 3] A SHLHE E MHIA
IU2SEX, stL2s, sI2TASHA,
sslENZ=R
ExN2A2 E510 22|+ 2UES FRGH= FAZHS(0I0ICIA HE0| FA D)0 70~80% 0| A4S EX
S, UM Xl= MHEAZ2HE(DIOICGIASSMASA D)0 =2 EXNSLICH TAQHEES §X HEQ = 22
AEO EX Mekol 24 M2tz H|ZE CHUS M2k(Event Driven, XA HeH)E &8, =X S 20| HE =
Ol 22HWYE =75IH, HARHEE 22N L LU =2 EX2 S& ™ FQI Q| X =22 =7§
LICt.
> THASHE
(SH9|: BHOLRl BHOREL %
HEgE &= FSpcls =oll=l; =2UE
KHat ZOH(A) 15,377 14,554 -5.35
SHSH(B) 9 -96.18
HEOI70AEIH () (2R) =X AHE 94 (C=A-B) 15,368 14,553 -5.30
el ol=A = (D) 13,710 12,526 -8.64
JIZEJr2 (E=C/Dx1000) 1,120.89 1,161.87 3.66
THEE S oH(A) 15,377 14,554 -5.35
SIS H(B) 9 -96.18
HEO0|702FKH (=4 (28) =X AHE 94 (C=A-B) 15,368 14,553 -5.30
gal £o1=2 £ £(D) 13,710 12,526 -8.64
JIZEJHA (E=C/Dx1000) 1,120.89 1,161.87 3.66
Z=2(Class)g J|=0tA &=
HE0I70A2FRH (F=AC J|Z=04A 1,070.21 1,106.14 3.36
HEOI70A2FXH (F=4!)Ce JI &=t 1,088.03 1,125.54 3.45
F)IEIZE0I2t SN HEENSAS L2(HY), S2(EH)ole R L= SHS(HES2EE) 23 A0 HEa-= JIHEC2
HEO =XAtESME gallel L01=R SERL2 LE JHAS YELICH
X 22 (SHS: gHOtRl BHOLX
_ J1EJHA (&)
=2 EHSX 2L | 2SS 2S£ D — n)
e SHY 2 X HH = XI BH il YT TERAEE Hl D
(28) 2021.3.17 682 13,142 1161.87 1107.43
C 2021. 3.17. 345 12,702 1106.14 1078.37
Ce 2021.3.17 27 707 1125.54 1086.78
) 2UHESE D= HEX 917.012705 BHOHE} EHQILICH.
(=) = =
2. 2EZU YU FUESHSE
> 221
[HESolSS C2eHA JIE 3.36%2 HI WA= (HH| 2.35%p =2 $=2 JI=5tASLICH




b EXEE L 28 HE
32 KOSPI= 1 6°/ AEEH3,061.42pt2 DGR SLICH KOSPI 9 £ D1, 222%, 28 = 2|02 AE0 2N It =201 Jt
20 Z22Y DRI XK} = 2 A Al &2 iEH P 21512 D102 236U SLICH T8 OZYol& DS HE0 MAZel
ot 258t HI m gstoz W20l L0l Y= IISF, MA/HOIR UE S2 2RGHYSLICH BHH, KOSDAQS 1~2¥9| 5t&
OlAl BHSoIH IO 2 4.6% At 956.2pt00 DF2HaHRASLICH
%*%—%‘i‘— KOSPI 2208 94Z = 2000 €Z0| A& JF20, JIH(+17.4%), BA2E(+12.0%), ZOI2M(+10.6%) UE SO AL
= $Ea+ SLICH
2 SAE 22 2E L AZY0IA R, 22 M AH SO J12F ZHO| ST D UASL, 01 MUX| AsF XH L 12| )
HE AA O %@OI O|§ L0 S s8oz &gs MUULICH Ol=, 2= S &= SAHCZ WEH a0l 22N &
5101 O3 JICHZH0l HAOU, SHHO2 = QIZH 04T X0 e ST WK HEIIE DSUUCH OJXS X2 =017 A2
Bl £Z0 MS8 A0l ZRSH A0 THHGtD Y= SAM, AIR2 HHAE SXQ oFE L 22 A2 A5H ABAS
THSHOIBIM KUt ASS AlES 202 MUEHLICY
HES =) AFS DUEQ LOIE U2 L 2EEQ, 22 TIIt AL 28E SO HIE2 £A6tDA StLICH B, HEHHE
MEANIREE D Jes Bt 2T ZI|2U2d=, )| SEMUes EME 56 X0 o=+ A8F S HIES=2 &
HEQALICH £5H HE= A|Z BIS0| [j2t BEAROR 2L EC = SA5I0 HEAS =4S HEQLICH
PO FH) =2AE (91 : %)
= FERE FEE FERE EEREBE
HEOIT0AZRH (FA) () 3.66 4.32 13.35 21.92
(HIXI2 el & (2.65) (2.12) (9.91) (16.12)
Z=2=(Class)e & &
HE0I70AZRH (FA)C 3.36 3.73 12.39 20.53
(HIDXI2 it &) (2.35) (1.53) (8.95) (14.73)
HE0[70AEXH (Z41)Ce 3.45 3.91 12.68 20.95
(HID X2 cHdl &) (2.44) (1.71) (9.24) (15.15)
u|mx|f(tﬂx|ma) 1.01 2.20 3.44 5.80
F)BI X 4=(HIXI0F3): KOSPI X 7% + OHZBP SEXAXI2 20 1-2Y X 63% + [KIS SEI[XI4=(1-2Y) X 55% + KIS ZI|X%=(2-3Y) X 40% + CALL X 5%] X 30%
% H EXNAE2 UH HA0E LIEE 2 0l 2E4H)E E&6l=s X2 ot LICH
Sl 2 14 HEPE] K] 32 54
HE0I70AFXH (FA) (L) 21.92 16.06 11.18 18.07
(HID X2 chHl &) (16.12) (9.29) (2.83) (4.96)
ZZ(Class)dg &g
HE0I70AZRH (FA)C 20.53 13.39 7.37 11.41
(HIZXI2 el & (14.73) (6.62) (~0.98) (-1.70)
HE0I70AZRH (F4)Ce 20.95 14.19 8.50 13.38
(HIZXI2 el & (15.15) (7.42) (0.15) (0.27)
Bl DX 4= (#1 X 01 3) 5.80 6.77 8.35 13.11
ZF)EI L X 2=(HXI0E3): KOSPI X 7% + OHZBP SEMMAXI2 20T 1-2Y X 63% + [KIS SEHIIXI4=(1-2Y) X 55% + KIS SI|X%=(2-3Y) X 40% + CALL X 5%] X 30%
¥ A EXNAE2 UH HAIE LIEE 2 0ldel 2SHUE E&0= A2 0t LI
P =S EE R
_ =2 T A AL E . =< ) AF COIHE & i
TE =] ma | os [2Esn] =u o | "¢ [A=aa] e e JIE | ESE
o | 1,162 | ot 6 0 ~1,091 0 0 0 0 1 0 96
o) | 1,188 | 15 6 0 ~570 0 0 0 0 iy 0 538
3. At &
> AL E (Sl HBr, %)
%iLtEﬁ _ e _ oM AS s S Y XAt esE 2 J1E T atEon
= EIN H2 os [zegsex| =zu | =« NES T P! ol =
KRW 10,991 2,803 988 0 0 0 0 0 0 454  -682 14,554
(1.00) (75.52) (19.26)]  (6.79) 0.00)|  (0.00)[ (0.00)] (0.00)] (0.00)] (0.00) (3.12)] —(4.69)| (100.00)
& 10,991 2,803 988 0 0 0 0 0 454  -682 14,554
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EERtM 0 sExts 0
S 0 SEM4 0
THSME T 0 oHE8E 0
TSR 0 TSR 0
g B 6.61 k= B - 679
= — 1301 A 3 — 1926
F4 = I 7 07 =4 : EEm————-—-—-————— 250
-20 0 20 40 60 80 100 -20 0 20 40 60 80 100
p FAHSE SEXHIS (491 = %)
=2 2SY HIS =< AESH Hl S
1 [PIESPN; 34.82 6 M= 5.67
2 IT H/W 10.01 7 21 4.96
3 AUlASA 9.38 8 ol 3.86
4 o} &f 7.15 9 LAl 2.79
5 =S| 6.89 10 J|Et 14.47
> 20t SXHIS (&% %)
=2 =ty HI= =9 =td H=S
1 CHetel = 100
> EXUa 49 103= (S+9) : %)
=2 T= =9 =S =< T= =9 HIS
1 FA NEESHS, 17.21 6 F4 Ziofl of 2.21
2 FA SK3L0I = A 4.55 7 FAl S R22B 2.10
3 FA NAVER 3.78 8 J|Ef REPODH = (20210316) 1.99
4 JIEt REPOUH = (20210316) 3.42 9 F4 A A ED 1.86
5 FA LG3t st 2.55 10 F4 SKHEI2IZE 1.80
v 2 MY ERES fY
=4 (Sl ==, siokel, %)
=29 Eeig | =% | HE o8 = )} =5t o= b
S EET 30,244 2,504 17.2 CHEtel= KRW WPIESPN;
SKotol < A 4,711 662 4.6 CHEtel= KRW WPIESPN;
NAVER 1,425 550 3.8 CHEtel= KRW AHIA A
LGSt 417 372 2.6 CHEtel= KRW 2t
&0 O 14,767 322 2.2 CHEtel= KRW 2=
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oS = AL 1 0.10 1 0.10
ZHDH S AF 1 0.09 1 0.09
HHETHAE 23 AHAIEFA R 0 0.00 0 0.00
LEEAFR 22| 3] Ab 0 0.00 0 0.00
S8 2 0.20 2 0.20
HZ0I70A R XH (ZA)Ce STEn = P 0 0.00 0 0.00
SH=0H0H, S+ 0 0.03 0 0.05
OH oK IANEAAD =
J?AJH MU~ Axz 1 0.07 1 0.08
T 2l 1 0.10 1 0.13
=& HHA 1 0.12 1 0.15
« HCOo| =AAEN(J 2P L) Nl BISS LIEFELICEH
o JIEHHIS0IR SIHZAHIE, 2 SO 01 U 2RHIE S HEHN ZAX UI=NO2 NSE YESO2N HH-SHE22= A

et LIt

¥ ADESUHS  HY o2
 gsecIfY . g s
b EE2 =, HIEHIS (S ASHAL %)
22 Z223-HIZHIS(A) | OH0H-SH2=2=2H 2(B) *? St (A+B)
0| 0.002 0.4192 0.4212
s A Kb ESUNME=E=]
AS0I70L£ ST (F4)(28) =Pl 0.0018 0.4473 0.4491
| 1.1677 0.4197 1.5874
=2 A XF KAl
A= 0170 ST (FH)C =Pl 1.1642 0.4478 1.612
| 0.8163 0.4206 1.2369
=3 A X XAl
A= 0170L 3T (544)Ce =Pl 0.8138 0.4487 1.2625
=1) £22-H|2H|2(Total Expense Ratio)0|&t 2824 S HEWA 2E5t= 'E4'2 'JIEHHIE' £EUS XA AT A (B4 H]
2 U2 IFE)CZ L= HIBZM 1Y 28JI12t & SN 228 £ B2 HIE2F2 UEHHLICH
Z=2) DHOH-EH=242 HISO0I2 HOH-BH222E =X FEIMH (B2 HIE AN JIFE)CZ L= HISZM 1Y 282)I12 F &
KERIDL S8 DHOH- S22 £F2 UEHLICH
. SEXAFAHOHOHLH S
> OHOHF=AAE X JEE (SHS|: Bor2l %)
TES e MMEEER
2 =2 2t = OH EPIF EEIS
315,052 11,742 358,580 15,095 83.77 339.72
=) HOHBI M S0/2 oY S22 = IEsH ZAIDIMO| ZHS 1) GiY @82 E BL5H Z=AI0 BRIIMO2 L HlEQLICH
HOHEI M 80| =222 HOHHAN222(0.1% HRI) L SEHAMOIES Al 0.3%) EMO2 AR EXXIF 2 &= HEH K0
ZOLEHLICY
> =2 32| =4 OHOHE &= 50| (H2I: %)
2020-06-17 ~ 2020-09-16 2020-09-17 ~ 2020-12-16 2020-12-17 ~ 2021-03-16

54.15 63.71 83.77
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